oS TN sx, 2y O 27]=7

x
O 50°
Y
@Ax:60°, Zy:30° @ Ax:90°, [y:55°
® zx=40°, 2zy=50° @ /x =40°, Ly =60°

® /x=60° /y=60°

/x = 60°, Zy = 180° - 60° —90° = 30°




o= IOl A 2x+ 2y =2

(@)100O @ 110° ® 120° @ 130° ® 140°

B

(DBC = /DAC = 45°
DABCD 7} ¢ef WHste=
£x + 45° + Zy + 35° = 180°
S Lx 4+ 2y = 100°




JE— [ VR
& 19 °1L/j AB// CD, 5.0ptAC/_f
5cm, 5.0ptAB = 8cm ¥ T, 5.0ptBD
o] Zol=?
@50111 @ 6cm ® Tcm

@ 8cm ® 9cm

B

4 ASDEC°SH /BAD =
(CDA (97})

/N N\
5.0ptAC = 5.0ptBD 9] ¥F2+9]
=M iden=g=,

/N N\
5.0ptAC = 5.0ptBD = 5(cm)




4. o3 oA (EAD = 85°, /BDC = 40° ¥ W], /DBC ¢] 27|&
ot

@® 50° @ 55° ® 60° @ 65° ® 70°

(EAD = /DCB
.. /DCB = 85°
.. /DBC = 180° — 40° — 85° = 55°




5.

q-—\% Z%Oﬂ]\:’ /DBP = 55° 01__,_] Iq1 , /CAP 9:' 37]%7

@ 85° @ 95° @ 105° @ 115°

®)125°

(PQC = /PBD = 55°
LCAP + /PQC = 180°
- LCAP = 180° - 55° = 125°




oh2 187 22 9 0 oA LADC =42° &
o, /ABD °] 27|19

@ 49° @ 44 ° @ 46°
@)48° ® 50°

.
5.0ptAC o] 957}

(ADC = /ABC = 42°
/CBD = 90°0] B &

. L/ABD = 90°—42° = 48°




o2 277 o] ¥ O ofl sk 023 A
ABCDE ©l4] ZABC = 100°, AED =
125° 4 ©f, 5.0ptCD ©] ZoJ&?

® mem @)2ncm
@ 4mcm @ 8mcm
® 1lacm

HXX CE & 19 WHske AHg oA LAEC = 80° 0|22
£CED = 45° o]t}
5.0ptCD ¢] $41ZF ,COD = 2/CED = 90° °|t}.

= 2n(cm) ©|tt.

o

7~ N\
we}A] 5.0ptCD = 2r x 4 X oo




@ on @ @

® 66°

/BAD = % X 144° = 72°
(BAD = /DCE = 72°




9. o2 oA LABO = 45°, /ACO =
15°< o, /BAC 2] 27]1=9

D 15° @ 20° ® 28°

@D)ESOO ® 35°

AAOC 7} o] SHIAIZ g ol B2 /CAO = 15°

2o 20l JAOC = 150°, & £2] /AOD =210°
1

/ABC = 210 x 5= 105° - LOBC =60°

AOBCE °l s ¥z 9ol

/OCB = 60°, /ACB = 45°

. /BAC =180°—-45°-60°—-45°=30°




10. o2 o)A 5.0ptAC
/N
5.0ptBD & 51H?

@ga @3(1

9 10
@7 6 Ja

AABP 9 95} ZAPC = /ABP + /BAP
/BAP = 80°-35° = 45°
VY N N\
5.0ptAC : 5.0ptBC = 35° : 45° = a : 5.0ptBD
45° 9

5.0ptBD
O0ptBD = 355 = Za




